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- & & 107,038,000 463,000 107,501, 000
% % & B 58,589,000 — 58,589,000
B f2 B & K 31,000,000 — 31,010,000
% Mm@ EE® 4,800,000 — 4,800,000
N ® R KR 20,730,000 — 20,730,000
BFRTFRELAREND 39, 000 - 39, 000
WA TR EEE 50, 000 - 50, 000
EEE-—thRERER 70, 000 - 70, 000
HARLTHEBEER 1,630,000 — 1,630,000
NE RS 260, 000 - 260, 000
B ok B % & B 13,365500 — 13,365,500
A3 FokE E % R 10,532,000 — 10,532,000
& 189, 524, 500 463,000 189,987,500
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E 7 IE A1 #Ett # E %R gt 8RKLE

17 B 46,428,000 43.4 — 46,428,000 43.2
2 A B 5 W 716,000 0.7 — 716,000 0.7
3F F B R M+ & 30,000 0.0 — 30,000 0.0
4B 3 B X £ 200,000 0.2 — 200,000 0.2
b HAEFEREERME 200,000 0.2 — 200,000 0.2
bEANEXBRRMNE 380,000 0.4 — 380,000 0.4
THAEEHRR M E 7,200,000 6.7 — 1,200,000 6.7
SRIEMRIRME 120,000 0.1 — 120,000 0.1
It 5 %5 Bl X & 380,000 0.4 — 380,000 0.4
0 5 X F #% 3,900,000 3.6 — 3,900,000 3.6
11 DBERENRERINE 42,000 0.0 — 42,000 0.0
RoEERkUVCEEE 469,750 0.4 — 469,750 0.4
PBERAYRUTFHY 1,465,435 1.4 — 1,465,435 1.4
14E B < & £ 21,793,610 20.4 463,000 22,256,610 20.7
R *x & £ 7,502,000 7.0 — 1,502,060 7.0
1684 E I A 81,610 0.1 — 81,610 0.1
7% Bt & 4,70 0.0 — 4,70 0.0
18 #& A & 3,895,371 3.6 - 3,8%,371 3.6
19 # 24 & 1,000,000 0.9 — 1,000,000 0.9
20 # 4% A 3,007,054 2.8 — 3,007,054 2.8
21 (= 8,222,400 7.7 — 8,222,400 7.6
m A A & 107, 038,000 100.0 463,000 107,501,000 100.0
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18 = = 589,957 0.5 - 589,957 0.5
2 & 5 & 10,249,593 9.6 8,300 10,257,893 9.5
3K £ & 51,451,941 48.1 454,700 51,900,641 48.3
4 & £ & 10,860,819 10.1 — 10,860,819 10.1
b5 & = 71,130 0.1 — 71,130 0.1
6= M K E X & 600,100 0.6 - 600,100 0.6
(N T = 1,042,444 1.0 — 1,042,444 1.0
8 = 7N = 9,131,557 8.5 - 9,131,557 8.5
9 H 3] = 4,021,072 3.8 — 4,021,072 3.7
10 % B g 11,175,812 10.4 — 11,175,812 10.4
N & € B & 10 0.0 - 10 0.0
122 & = 7,697,155 1.2 - 1,697,155 7.2
1B3&#F < & = 26,410 0.0 - 26,410 0.0
14 7% & = 120,000 0.1 - 120,000 0.1
m & 8 107, 038, 000 100.0 463,000 107,501,000 100.0
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A 53 & 22,169,870 20.7 3,400 22,173,270 20.6
% ) & 30,673,640 28.7 — 30,673,640 28.5
N & g 7,697,155 1.2 — 1,697,155 7.2
1N B 60, 540, 665 56. 6 3,400 60,544,065 56.3

) 53 & 19,474,554 18.2 87,600 19,562,154 18.2
" T O# B B 406,500 0.4 — 406,500 0.4
fH B = % 10,085601 9.4 372,000 10,457,601 9.7
& kvi & 37,920 0.0 - 37,920 0.0
T B RU L EE — - — — —
g i & 124,010 0.1 — 124,010 0.1
3 ax £ 7,793,800 7.3 — 1,793,800 7.3
5 8 EHEEXE 8,454,940 7.9 — 8,454,940 7.9
B =E % & 20200 1.9 - 2,072,000 1.9

B R 5 X & 633,00 59 — 6,336,040 5.9

z ) fit 46,900 0.1 - 46,900 0.1
XKEEBRBEXE 10 0.0 — 10 0.0
¥ i@ & 120,000 0.1 — 120,000 0.1
m b A 3 107, 038, 000 100.0 463,000 107,501,000 100.0




—RSEFHHETFHEDOAS

(mEA)
(e )
= T35 a% Er
14 ElR 463, 000| T & C 3 S ERRS RIS B RN S 76, 000
FE BRSNS TR 15, 000
FE BRGNS TEE RS 372, 000
m A3 463, 000
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e ESEREI00, FERERIA
L CURSERRISES s enmpenn, 00, 5| 600 76, 000
RIS B ZFERH, 100
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FHCHBLELERAH |82 400, FE60, FECE [ 400 o0 378,700
SRATE mebEzEmanan 0 | '
m i Et 463, 000




